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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
) e RE
= 1 41, 044, 717
T
= 1 30, 040, 014
PRI T
= 1 1, 441, 800
i1 TRy A7 vhyh PR B 5,
000m3 LA _F10, 000m3 i
m3 6, 000 240. 3 1, 441, 800
Fe AL T
= 1 28, 598, 214
i T
= 1 7,227, 000
R T
= 1 7,227, 000
EVRIIRAS JZ10cm
m2 1, 000 7,227 7,227, 000
NSV UL
= 1 59, 701
JRRSLERERE T
= 1 59, 701
Iy SY(E=S
= 1 59, 701
HEE
= 1 3, 450, 000
RS B L T
= 1 2, 306, 000
WA T B L ERRDAE A JTliE L
m2 1, 000 2, 306 2, 306, 000




HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TEHR LB T
= 1 1, 144, 000
P Pk
m3 100 5, 489 548, 900
ALy Pk
m3 100 5,951 595, 100
Gan
= 1 268, 002
ARmE T
= 1 268, 002
T 2IAH
B (Bf)
= 1 268, 002
B TR
= 1 41, 044, 717
B ST
= 1 2,810, 746
IR
= 1 379, 038
BIGREsET (K3
= 1 379, 038
HIBGERE (FE L)
= 1 2,431, 708
Wi
= 1 43, 855, 463
B
= 1 11, 821, 620
T AT
= 1 55, 677, 083




HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
— R
= 1 8,722,917
TS
= 1 64, 400, 000
THEBLF Y %H
= 1 6, 440, 000
TH#EG

= 1 70, 840, 000






